BMhpFEE AT_XA2 11A98AS

<R1.11/9(%) : RGT=R2—h >

[IMNFEOER 2772ILR)

<ATavo> <1f2y—o>
F— L4 11 2| 3| 4 |#KEL F—LA 4 | 5 | 12| 16 |Bsk|lEfL
4HE BIE | KBBLTC /b5 A INE O EER 76| 76
1| i S | ABALTC |/ 60| 62|36 (2-1| 2| [7]4] b —a 26| )| (327| 2
ML ¥ | WishTC |[/h4 _ B TF BE _
2| 2 T | wsonos gl 06 60 | 16 [1-2| 3 | |7 |5 |2 eras| 62 60 | 64 [3-0| 1
BH BR | #9590 |h c A 18K |67
3| sem s | Eofero |ina| 26 | 06 06 (0-3| 4 | V12| Kaparen| (5| 06 64 (1-2| 3
INH EE | BEO—Y |6 D BR BA|67
4 =% | mEn— |ne| 63 | 6160 301 1| |7 116] bz | (3| 46 (46| \[0-9] 4
<B7AvY> <2ty—4o>
F—L% 5| 6 | 7| 8 |REk|IEf F—LA 117 | 11| 13 | Bs8&| sz
EF BEE | 2BX—/—|/6 _ A ) H _
5 | o B 5Lt ||\ | 60| 60 603-0f 1| |51 =k S5 |\ |61]26|36(1-2| 3
A #EE | wishTC [/5 B homkE IR _
6| w5 | winre |ng| 06 36|60 (1-2| 3| |5 |7| X | 16 16 | 16 [0-3| 4
g ER | £BELTC |4 c KIGREAERD _
/ FKHE B | KBALTC [/ 06 | 63 60 |12-1( 2 o [11 /rl]'qjﬁ BES 62|61 36 |2-1] 2
HABFISD | NWTC  [/h5 D i &E _
8| lams2| nwro |me| 06 | 06| 06 0-3| 4 | |, |18 Lm ma|63[61|63]\ |3-0f 1
<c7avy>
F—L4 9 |10 | 11 | 12 |RsBk|IEfE F—L4 2 | 6 | 10| 15 |BEk|ESRL
K EIZ| HBETS |6 A A Z5
9| Tornn| EBrs |ie 16|16 16 |0-3 4 | |5 |2| X% Tyt 36|16 | 06 |0-3| 4
o] AL T ISl 61| N\ | 26|36 (1-2 3 | |5]6| T 63|\ | 16]62]2-1] 2
KIFFEANER| &BELTC |6 c mH 3 _
11 ’r’rEFH {BES | £IBALTC |6 61 | 62 06 [2-1| 2 5|10 E}Hﬂ% X 61| 61 63 [3-0] 1
A &KX | BEO—Y /6 D B
12| NeaAsy| men—w |ns| 61] 63|60 N\ |30 1| |5]15) tim % |60|26]36|\ |1-2f3
<D7ays> <4fuyy—o>
F—LA 13| 14| 15 | 16 |ME|IESL F—LA 3| 8| 9 | 14 |B&|IER
tof P | mmoLre hel\ | 60| 63| 57 2-1] 2 | |4 ]3| HE BEIN | 60| 06| 16|1-2| 3
14 jf]%\j; éé mzﬂg ;ﬁ 06 26 | 16 [0-3| 4 E 8 ﬁﬁgg% w.o w.o|w.0|0-3] 4
WA BE [JLRA—TU G c X5 &= _
AR BA| EBALTC /6 D R ER
16| 4r = it | EIBELTC |16 75| 61| 60 3-0 1 4 |14 /Jt;‘iﬂ =i 61|60 26 2-1] 2




